

# HW #1 Solutions

Ch 4 P 244

12  $\int_0^1 (\sqrt[4]{u} + 1)^2 du$

Put  $u = t^4 \Rightarrow du = 4t^3 dt$

$$\int_0^1 (\sqrt[4]{u} + 1)^2 du = \int_0^1 (t + 1)^2 4t^3 dt$$

Expand and integrate  
the polynomial.

17  $\int \frac{x+2}{\sqrt{x^2+4x}} dx = \frac{1}{2} \int \frac{2x+4}{\sqrt{x^2+4x}} dx$

$$= (x^2+4x)^{1/2}$$

20  $\int \sin x \cos(\cos x) dx$

Put  $\cos x = u \Rightarrow -\sin x dx = du$

$$\therefore \int \sin x \cos(\cos x) dx = - \int \cos u du$$

$$= -\sin u$$

$$= -\sin(\cos x)$$

11  $\int \arctan 4t \, dt$ . Put  $4t = \tan \theta$ .  
 $\Rightarrow 4 \, dt = \sec^2 \theta \, d\theta$ .

$$\Rightarrow \int \arctan 4t \, dt = \frac{1}{4} \int \theta \sec^2 \theta \, d\theta$$

$$= \frac{1}{4} \int \theta \, d(\tan \theta) = \frac{1}{4} \int (d(\theta \tan \theta) - \tan \theta \, d\theta)$$

$$= \frac{1}{4} \int d(\theta \tan \theta) - \frac{1}{4} \int \tan \theta \, d\theta$$

$$= \frac{1}{4} (\theta \tan \theta + \ln |\cos \theta|)$$

13 Say  $\int e^{2\theta} \sin 3\theta \, d\theta = I$ .

Then,  $I = \int e^{2\theta} \sin 3\theta \, d\theta = -\int \frac{1}{2} \sin 3\theta \, d(e^{2\theta})$

$$= -\frac{1}{2} \int \sin 3\theta \, d(e^{2\theta}) = -\frac{1}{2} \int d(\sin 3\theta e^{2\theta}) + \frac{1}{2} \int e^{2\theta} d(\sin 3\theta)$$

$$= -\frac{\sin 3\theta e^{2\theta}}{2} + \frac{3}{2} \int e^{2\theta} \cos 3\theta \, d\theta$$

$$= -\frac{\sin 3\theta e^{2\theta}}{2} + \frac{3}{2} \left( \frac{1}{2} \int \cos 3\theta \, d(e^{2\theta}) \right)$$

$$= -\frac{e^{2\theta} \sin 3\theta}{2} + \frac{3}{4} \int (d(e^{2\theta} \cos 3\theta) - e^{2\theta} d(\cos 3\theta))$$

$$= -\frac{e^{2\theta} \sin 3\theta}{2} + \frac{3}{4} e^{2\theta} \cos 3\theta + \frac{9}{4} \int e^{2\theta} \sin 3\theta \, d\theta$$

$$= -\frac{e^{2\theta} \sin 3\theta}{2} + \frac{3}{4} e^{2\theta} \cos 3\theta + \frac{9}{4} I$$

Now solve for  $I$ .

$$\underline{171} \quad \int_1^2 \frac{\ln x}{x^2} dx = \int_1^2 \ln x d\left(-\frac{1}{x}\right)$$

$$= \int_1^2 d\left(-\frac{\ln x}{x}\right) - \int_1^2 \left(-\frac{1}{x}\right) d(\ln x)$$

$$= -\frac{\ln x}{x} \Big|_1^2 + \int_1^2 \frac{dx}{x^2}$$

$$= -\ln 2 + \int_1^2 \frac{dx}{x^2}$$

6.21

$$\begin{aligned} & \frac{12}{\quad} \int x \cos^2 x \, dx \\ &= \frac{1}{2} \int x (\cos 2x + 1) \, dx = \frac{1}{2} \int x \cos 2x \, dx + \frac{1}{2} \int x \, dx \\ &= \frac{1}{2} \int \frac{x}{2} d(\sin 2x) + \frac{x^2}{4} \\ &= \frac{1}{4} \int (d(x \sin 2x) - \sin 2x \, dx) + \frac{x^2}{4} \\ &= \frac{1}{4} x \sin 2x - \frac{1}{4} \int \sin 2x \, dx + \frac{x^2}{4} \\ &= \frac{x \sin 2x}{4} + \frac{\cos 2x}{8} + \frac{x^2}{4} \end{aligned}$$

$$\begin{aligned} & \frac{16}{\quad} \int \cos^2 x \sin 2x \, dx = \int \frac{\cos 2x + 1}{2} \sin 2x \, dx \\ &= \frac{1}{2} \int \sin 2x \cos 2x \, dx + \frac{1}{2} \int \sin 2x \, dx \\ &= \frac{1}{4} \int \sin 4x \, dx + \frac{1}{2} \int \sin 2x \, dx \\ &= -\frac{1}{4} \frac{\cos 4x}{4} - \frac{1}{2} \frac{\cos 2x}{2} \end{aligned}$$

~~$\frac{52}{\quad} \int \frac{dx}{x^2 \sqrt{16x^2 - 9}}$  Put  $x^2 = t \Rightarrow 2x \, dx = dt \Rightarrow dx = \frac{dt}{2x}$~~

52 |  $\int \frac{dx}{x^2 \sqrt{16x^2 - 9}}$  Put  $x = \frac{3}{4} \sec \theta$ .

$\Rightarrow dx = \frac{3}{4} \sec \theta \tan \theta d\theta$ .

$$\begin{aligned} \int \frac{dx}{x^2 \sqrt{16x^2 - 9}} &= \int \frac{\frac{3}{4} \sec \theta \tan \theta d\theta}{\left(\frac{3}{4}\right)^2 \sec^2 \theta \sqrt{9(\sec^2 \theta - 1)}} \\ &= \frac{4}{3} \cdot \frac{1}{3} \int \frac{\sec \theta \tan \theta d\theta}{\sec^2 \theta \tan \theta} \\ &= \frac{4}{9} \int \cos \theta d\theta. \end{aligned}$$

~~58~~  
59

$$\begin{aligned} &\int \frac{1}{\sqrt{9x^2 + 6x - 8}} dx \\ &= \frac{1}{3} \int \frac{1}{\sqrt{x^2 + \frac{2x}{3} - \frac{8}{9}}} dx \\ &= \frac{1}{3} \int \frac{1}{\sqrt{\left(x + \frac{1}{3}\right)^2 - 1}} dx \end{aligned}$$